
((E1isEnrolledInvdisEnrolled → SchooldisEnrolled)∧
(E1isEnrolleddisEnrolled → E1isEnrolledInvdisEnrolledInv)∧
(E1isEnrolledInvPipo → E1isEnrolleddisEnrolled)∧
(E2isEnrolledPipo → E1isEnrolledPipo)∧
¬E2isEnrolleddisEnrolledInv∧
(E2isEnrolleddisEnrolledInv → E1isEnrolleddisEnrolledInv)∧
¬E2isEnrolledPipo∧
(E1isEnrolledInvSchool1 → SchoolSchool1)∧
(E2isEnrolleddisEnrolled → E1isEnrolleddisEnrolled)∧
(E1isEnrolleddisEnrolled → StudentdisEnrolled)∧
¬E2isEnrolledSchool2∧
(E1isEnrolledInvSchool2 → E1isEnrolleddisEnrolled)∧
(E2isEnrolledSchool2 → E1isEnrolledSchool2)∧
(E1isEnrolledPipo → E1isEnrolledInvdisEnrolledInv)∧
(E1isEnrolledInvdisEnrolled → E1isEnrolleddisEnrolled)∧
(E2isEnrolledSchool1 → E1isEnrolledSchool1)∧
(E1isEnrolledPipo → StudentPipo)∧
(E1isEnrolledSchool1 → E1isEnrolledInvdisEnrolledInv)∧
(E1isEnrolleddisEnrolledInv → StudentdisEnrolledInv)∧
(E1isEnrolledSchool2 → E1isEnrolledInvdisEnrolledInv)∧
(E1isEnrolledSchool2 → StudentSchool2)∧
(E1isEnrolledInvdisEnrolledInv → E1isEnrolleddisEnrolled)∧
(E1isEnrolledInvSchool1 → E1isEnrolleddisEnrolled)∧
(E1isEnrolledInvdisEnrolledInv → SchooldisEnrolledInv)∧
(E1isEnrolledInvSchool2 → SchoolSchool2)∧
(E1isEnrolledInvPipo → SchoolPipo)∧
(E1isEnrolleddisEnrolledInv → E1isEnrolledInvdisEnrolledInv)∧
¬E2isEnrolleddisEnrolled∧
¬E2isEnrolledSchool1∧
(E1isEnrolledSchool1 → StudentSchool1)∧
SchoolSchool1∧
E1isEnrolledInvSchool1∧
E1isEnrolledPipo∧
SchoolSchool2∧
StudentPipo)
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